D1vISION WITH A REMAINDER II (H - SET 2)
DIVISION WITH A REMAINDER

Name:

Time:

Score:

) 9240 = (—1) =
2 —12574 + 3 =

3 —15614 + (—2) =
s —17112 = (—6) =
s5) 42165 + (—5) =
516) —8820 = 9 =

547) —T7H8D3 = 9 =

s —2404 + (—8) =
9 —18597 + (—4) =
5500 —18951 + 3 =

w1 33047 = (—6) =
2 4943 + (—4) =
w3 —14941 + (=2) =
) —5061 + (=5H) =

555 —76062 =+ 10 =

Mathematics: Division - Level 8 - Horizontal - Set 2
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22990 = (—4)
21451 = 3 =

41273 =6 =

—27196 + (—4)

4466 = (—1) =

—2273 = (—10) =

—6944 = (—1)

—12606 = (—7)

4249 + (—1) =

—13223 =9 =
—9324 =+ 10 =
14827 = (—5)
22731 <+ (—6)
—15478 + 2 =

10574 + (—3)
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